log (T*) LABEL\IDUS Dreieckshelligkeit T*

T* Y=L w nc=100,

T*L aBanbus =[IN[A 1n+A2YV)I/(A 20A0n)] (Ya/100<Y<=Y,c)
T*N(3,6)=219,T*(18)=498,T*(90)=776

log[T*/T*

LABJNDu5
Normfarbwertdifferenz
Yoc=L*w - nc=100,

T*LaBanDus =[N[A 10+A2a)I/(A 20A0n)] (Ync/200<Y<=Y,0)
dY=Agn(A1tAsyY)  A4=0,017, A,=0,0058
Aon,pe5=1,5, Aon =10, siehe CIE 230:2019

Ygg=0,53, Ay,=1,000, ¢=1,00
dY;5=0,12, A =0,017, A,=0,0058

dY; 6=0,03 Y,=18, dY=0,12
T*,=498 dY,=0,12 dY,/Y,=0,00F" /

Anwendungs-
bereich

log (AY/Y) LABJINDU5
. Normfarbwertemfindlichkeit
SHEYY Yoc=L*w - nc=100,

T*LaBaNDUs=[IN[(A 1n+A2nY)J/(A 2nA0n)] (Yn/100<Y<=Y,c)
AYIY=Agr A1 Az Y Y

(dY/Y=0,0059, Ay=1
(dY/Y)=0,0067, A =0
(dv/Y;

,Ag ,0

0,005 Yu=1& dY=0,12

Anwendungs
= pgreich

S

10g(dY/Y)E-2,17, m,=-0, Fsw

T+,=498 dY,=0,12 dY,/Y,=0,006%
1

'Y,=18
Yw=90

Yn=3.6

LABJINDu5
Normfarbwertkontrast
Yoc=L*w - nc=100,

T*LaBaNDus=[IN[(A 1n+A2nY)J/(A 20A0n)] (Yad/100<Y<=Y,c)
YIAY=Y/A on(AntAznY)]

(Y/dY}=166,97, A,=1,000, ¢=1,00
(Y/dY)g=148,27, A=0,017, A,=0,0058
(YIdY} =95 03 218, d=0.12

log (Y/AY)
C,=(Y/AY)

T*,=498 dY,=0,12 Y,/dY,, 148
10g(Y/dY)=2,17, m,=0,13 +-*
-

Anwendungs-|
bereich
Y,=18
2 Yw=90

log (T*/T* ) LABJNDuUS relative Dreieckshelligkeit T*/T*
THT* YocmL*w - nc=100,

T*Laganbus =[IN[A 1n+A2nV)V/(A20A0n)] (Yd/100<Y<=Y,c)
T#n(3,6)=219,T* ,(18)=498.T*(90)=776

T*odT*=L,55, Ay=1,000, 6=1,00
T*, 20,017, A= 00058
T TA=0,43, T, =498,34 Y1

log[T*/T*,]=0, m,=0,33
L* =49, T* =498
1 Anwendungs-|
1 bereich
1y,=18

Yy =90

N=36

LABJNDUS relative
Normfarbwertdifferenz
Yoe=L*w ~ ne=100,

T*Laganbus =[IN[A 1n+A2nY)V(A 20A0n)] (Yd/100<Y<=Y,c)
AYIY,=Ag A +AgYI/dY,

dYeg/dY,=4,43, Ay=1,000, ¢=1,0
Y,¢/dY,=1,00, A=0,017, A2= ! o
dY3 ¢dY,=0,31 Y,£18, dY=0,12

log(A Y/AY i)
AYIAY,

T*,=498 dY,;=0,12 dY_/Y,=0, (‘JF.

log [(AY/Y) I (AYIY)] LABJINDUS relative
Normfarbwertempfindlichkeit
S/Su=@YMIAYN), ot ™S EIE0.

T*LABINDUS =[IN[(A 10+A2nY)J(A 2nA0n)] (Yd/100<Y<=Y,c)

AYIYYAYIY = (At Ag )Y (YY)

(dY/Y)o/(dY/Y)=0,88, Ay=1,000, ¢=1,00
(AY/Y)(dYIYY=1,00, Ar=0.017, A;=0,0058
(dY/Y%ily(dY/Y‘L <58 ¢‘"_13 ay= 2o

|Og[(dY/Yy(dY/Y)_|] 0, m=-0, 13
T*,=498 dY,=0,12 d¥,/Y,=0,0067, bereich
1y,=18
Voy=00

Yn=3.6
log [(Y/AY) I (YIAY),] LABJINDUS relativer
Normfarbwertkontrast
CrlCry=(YIAV)I(YIAY)y yoi % 2100,

T*Laganbus =[IN[A 1n+A2nY)V(A 20A0n)] (Yn/100<Y<=Y,c)
(YVIAYY(YIAY), =Y IYIAY Y )TA onAgrAgr VY (YIAY),
(YIdYg/(Y/dY)=1,12, Ay=1,000, ¢=1,00
(Vi (YIV} =100, Av=0,017 Ay 0,0058
(Y/dY%vd(Y/dY =0,64 Y,=18, dY;=0.1

1
1
1 bereich
'y,=18
Yy =90




